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QUESTION 1

Two switches are members in an active Intelligent Resilient Framework (IRF) virtual device. A network administrator
joins a third switch to the IRF virtual device. Which switch is now the master?

A. The current master of the IRF virtual device always remains the master.
B. The switch with the lowest member ID always becomes the master.

C. The switch with the lowest priority value always becomes the master.
D. The switch with the highest priority value always becomes the master.

Correct Answer: D

QUESTION 2

Refer to the exhibit.

Exhibit: Network diagram and routing tables
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Router A

Destination/Mask Proto NextHop Interface
10.1.10.0/24 Direct 10.1.10.254 vlan10
10.1.20.0/24 Static 192.168.100.2 vlan1
192.168.100.9/30 Direct 192.168.100.1 vlan1
Router B

Destination/Mask Proto NextHop Interface
10.1.10.0/24 Direct 192.168.100.1 vlan1
10.1.20.0/24 Static 10.1.20.1 vlian20
192.168.100.9/30 Direct 192.168.100.2 vlan1

Why does traffic from PC1 fail to reach PC2?
A. Only static routes have been enabled

B. The subnet mask is incorrect on the routers
C. There is no route back from router B

D. A default gateway setting is incorrect

Correct Answer: C

QUESTION 3
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Refer to the Exhibit. Exhibit: HP Comware switch configuration. [Comware] vlan 100 [Comware-vlan100] quit [Comware]
vlan 200 [Comware-vlan200] quit [Comware] interface g1/0/22 [Comware-GigabitEthernet1/0/22] port link-type trunk
[Comware-GigabitEthernet1/0/22] port trunk permit vian 100 200 [Comware-GigabitEthernet1/0/22] quit A network
administrator configures the Comware switch, as shown in the exhibit. The network administrator then connects a cable
from the Comware\\'s g1/0/22 interface to port 5 on an HP ProVision switch. Which configuration will

successfully establish connection for VLAN 1, 100, and 200 between the two switches?

A. ProVision (config) # vlan 100ProVision (config) # vlan 200ProVision (config) # vlan 100 tagged 5ProVision (config) #
vlan 200 tagged 5

B. ProVision (config) # vlan 100ProVision (config) # vlan 200ProVision (config) # interface 5 tagged 100 200

C. ProVision (config) # vlan 100ProVision (config) # vlan 200ProVision (config) # interface 5 tagged 100ProVision
(config) # interface 5 tagged 200

D. ProVision (config) # vlan 100 200ProVision (config) # vlan 100 200 tagged 5

Correct Answer: A

QUESTION 4

Which FlexNetwork architecture component provides high performance and low-latency for virtual and physical servers
that provide services to the users in a company?

A. FlexFabric

B. FlexDataCenter
C. FlexNet

D. FlexArchitecture

Correct Answer: A

QUESTION 5

Refer to the exhibit.

DHCP
server
DHCP 10.1.4.1
client Comware-1 Comware-2
G1/0/1 G1/0/2 G1/0/1 G1/0/2
TR

The physical interfaces for Comware-1 and Comware-2 switches in the exhibit are configured in routed mode and
OSPF. Both switches have the three subnets in their routing tables. The administrator wants to use DHCP to assign
addressing information to the users. Based on the exhibit, where should the administrator configure DHCP relay?
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A. Comware-1. G1/0/2
B. Comware-1, G1/0/1
C. Comware-2. G1/0/2
D. Comware-2, G1/0/1

Correct Answer: B
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